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3.1 2.4 6.3 4.3 4.4 0.2
e 38, 100 17, 400 78, 900 24, 800 53, 200 43, 000
28 28 1 20 20 2 2 51 51 2 2
0.0 0.4 3.9 0.3
JEEET 18, 300 32, 400 9,100 21, 600
22 22 9 9 2 2 33 33
4.8 4.2 20.0 5.8 -1.4
=%} 50, 700 66, 500 84, 000 58, 100 72, 000
3 3 4 4 1 1 13 13 1 1
-0.9 0.5 9.8 1.9
EY Sl 10, 300 20, 300 9, 000 12, 500
2 2 1 1 1 1 4 4
3.4 0.3 4.9 2.7
G NEENT ] 18, 300 53, 700 10, 700 27, 300
4 4 2 2 1 1 7 7
0.8 0.0 1.0 0.6 2.1
e 16, 600 40, 300 5, 000 21, 800 141, 000
11 11 4 4 1 1 16 16 1 1
-1.0 -3.3 0.0 -1.5 -1.8
= 18, 200 25, 800 12, 400 19, 500 54, 000
4 4 2 2 1 1 7 7 1 1
2.1 0.5 1.5
N T 19, 600 24, 100 21, 200
7 7 4 4 11 11
0.4 1.0 0.5
1= B T 15, 700 28,100 18, 500
7 7 2 2 9 9
0.5 -0.3 10. 0 1.4
T 13, 100 26, 300 18, 700 16, GO(J
6 6 2 2 1 1 9 9
1.6 2.4 2.9 6.2 2.3 -1.0
moEk 25, 800 17, 400 53, 600 20, 700 34, 100 70, 600
99 99 1 50 50 10 10 160 160 5 5
1.0 0.7 13.2 2.6
=B BT 16, 800 31, 800 21, 500 21, 800
4 4 2 2 1 1 7 7
4.9 8.2 24. 2 9.4
p-iiling 37, 600 53, 000 59, 000 45, 000
3 3 1 1 1 1 5 5
3.1 0.0 1.6
- gemy 23, 100 28, 600 24, 900
2 1 1 1 3 2
1.3 1.3 1.3
TR X HT 21, 300 33, 200 25, 800
5 4 3 3 3 7
-0.6 —4.0 -1.5
YT 6, 400 14, 400 8, 400
3 3 1 1 4 4
-1.1 -0.3 0.0 0.7
A HHT 11, 900 23, 300 7,300 14, 200
5 5 2 2 1 1 3 8
-1.8 -1.5 -1.7
SCHTHT 9, 400 19, 100 12, 700“
2 2 1 1 3 3
0.5 0.0 0.4
JLACHT 18, 000 32, 100 21, 500”
3 3 1 1 4 4
0.9 -1.1 -1.0
HA T 9,900 18, 400 12, 400”
7 7 3 3 10 10
-1.0 0.6 -0.9
KEHRT 9, 500 17, 000 12, 000]
2 2 1 1 3 3
0.3 0.2 12.5 0.9
my F 15, 900 26, 800 29, 300 19, 80(-)H
36 34 16 16 3 3 55 53
1.3 2.4 2.2 7.6 2.0 -1.0
& F 23, 100 17, 400 47,100 22, 700 30, 4oo|| 70, 600
135 133 1 66 66 13 13 215 213 5 5
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